Kelderman
2/24/70

Stock Height and

2 Inch Lift Rear Air
Ride Installation
Manual

- 2020+ Chevy / GMC 2500,/3500

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500




Kelderman

2/24/70

Kelderman Y-Link Air Ride

Contents
= Kt NUMDBETS. ..ottt (3)
= INtrodUCtioN... . (4)
= SAfELY e (5)
- Suspension Removal ......c.cceeeveevecieeeccecceeeeaas (6)
- Air Ride Installation........ccceeeceeeeeeccine e, (7)
= DraWINgS ..ot e ere e (18)
= SChEMALICS. ittt (28)
- Owner Responsibilities.......c.ccccoeeveieeececeeceeceeene (32)
- Contact Information.......cccceveeeeeicriivinevcreeeeene. (34)

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

Vi



Kelderman | 3

2/24/70
- This installation manual covers the following air ride kits.
Kit Number Description
10006054 2020+ GMC/ Chevy 2500/3500 stock height rear air ride
10006647 2020+ GMC/ Chevy 2500/3500 2” Lift rear air ride

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman

2/24/70

Introduction

Important
It is important that the entire installation instructions be read thoroughly before
proceeding with installation.

Product Installer Responsibilities
Installer is responsible for installing this product in accordance with Kelderman Mfg.
Inc. specifications and installation instructions.

Installer is responsible for providing proper installation of vehicle components and
attachments as well as required or necessary clearance for suspension components,
axles, wheels, tires, and other vehicle components to ensure a safe and sound
installation and operation of this product.

Product Owner Responsibilities

Owner is solely responsible for pre-operation inspection, periodic inspections,
maintenance, and use of the product as specified by Kelderman Mfg. Inc. Of
particular importance is the re-torque of fasteners. This re-torque must be
performed within 90 days or 1000 miles of this product being put into service.

Definition of Terms
- Warning: Indicates a potentially hazardous situation which, if not avoided,
could result in death or serious injury.
- Caution: A potential hazardous situation may result in property damage.
- Note: Provide information or suggestions that help correctly perform a task.
- Torque: When italicized “torque” alerts the installer to tighten fasteners to a
specified value.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

4



Kelderman

2/24/70

Safety

Your Safety and the Safety of Others is Very Important.
Read and understand all safety precautions and instructions before installing this

product.

CAUTION: Trucks Equipped with Parking Sensors or Other Like Devices.

Relocation of these devices will alter the field of view. It is the responsibility of the

owner to understand how these changes affect the operation of these systems.

WARNING: Careless Installation Can Result in Serious Injury or

Property Damage

Wear eye protection.

Disconnect the battery before doing any work on the vehicle.

Work on flat level ground.

Ensure truck is properly supported by jack stands. Never work under a
vehicle supported only by hydraulic jacks.

Take precautions when lifting product. Due to the size and weight of this
product three people are recommended for installation.

Never work directly under the product until it has been securely fastened to
the vehicle.

Avoid sharp, hot, and moving components when routing electrical cables.
If drilling inspect both sides of the surface and remove/relocate any objects
located in the way.

Ensure all bolts are properly tightened before driving.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

2



Kelderman | B
2/24/70

Suspension Removal

1: Before doing anything, measure the pinion angle and record it. This is important
because you will need to put the axle back to this measurement after installation. See

figure 1.

Pinion angle

Figure 1

2: The bed must be removed from the truck.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 7

2/24/70

3: Take the following measurements for future reference. You will need to refer to these

Figure 2

measurements to adjust the suspension system. See figure 2 below.

-

]

WHEEL BASE DIMENSION

-

CENTERING DIMENSION 2

{

o

" FRAME TO GROUND

I

WHEEL BASE DIMENSION

CENTERING DIMENSION 1

A: Jack up the rear of the frame so that most of the tension is off of the leaf springs. Place

a set of jack stands under the frame and block the tires so the axle won’t move.

9: Support the front of the pinion with a jack stand.

6: Remove the leaf springs, shocks and sway bar, if equipped. Keep the mounting

hardware for later use.

1: Remove upper overload pads, if equipped.

8: Cut bump stop pads off of the top side of the axle and grind the axle smooth. See figure

3.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 8

2/24/70

Figure 3

9: Cut factory bump stop brackets off of the frame rails and grind the frame smooth. See
figure 4.

Figure 4

10: Paint or apply undercoating to areas that have been cut and ground on to protect from
rust.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 9

2/24/70

Air Qide Installation

- Open every box and locate all parts. There are several smaller bushing pieces and
bolts that are packaged separately inside the main box.

1: NOTE: All of the bolts in this kit use a flat washer on each side of the bolt.
2: NOTE: Snug all bolts but do not tighten until the entire kit is installed
3: Remove the plate on top of the differential and disconnect the lines from the plate.

Replace it with P/N 10006521. Use two factory bolts and one M8-1.25 x 40mm bolt,
washer, lock washer and spacer. See figures 5 and 6.

7 \\,\/
USE FACTORY '
-

BOLTS HERE —Z==

Figure 5

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



10

Kelderman

2/24/70

ITEM NO.| PART # DESCRIPTION QY.
1 10006521| Plate - 11ga - Axle Line Relocation Backet 1
2 10006656|CRR - 1" OD x.76" ID x .75" Long - PHB Spacer| 1
3 13991 Bolt - M8 - 1.25 x 40mm Class 10.9 1
4 13993 M8 Splitlock 10.9 YZ 1
5 13997 Washer - M8 Flat Washer 1

[oororscazoravna] 155 [ approxmate weight - Ibs

=

ECN

CHANGE 2ZSCRIPTION

TFANCE
BY

DCATE

sn:Axle Line Relocation Plate

S |Prouct:

PRI HoMzER: 10006960

ZSIGHN 3Y: Andrew Swope DATZ: 3/20/2020

SHEET 1 OF 2

Figure 6

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman

2/24/70

A: Locate the upper bag mounts Driver Side (DS) P/N 10006396 and Passenger Side (PS)
P/N 10006704. Temporarily bolt each upper bag mount to the frame so that you can
locate the two holes to drill into the frame directly above each air bag. The holes need
to be drilled to 15/16” through the outer wall of the frame ONLY. It may be necessary to
remove the bag mount and die grind the holes to get everything to align properly. After
the holes are drilled, remove the bag mounts. See figures 6,7,8,9 and 10.

USE THESE HOLES TO BOLT UP
THE BAG MOUNT WHILE YOU

DRILL THE HOLES IN THE FRAME
_—

Figure 7

Figure 8

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



12

Kelderman

2/24/70

ITEM #| PART # DESCRIPTION QTY.

1 10006473 Plate - 1/4" - (PS) Frame Mount 1
2 |10006414 Plate - 3/8" - (PS) Frame Mount 1
3 10006408 Plate - 3/8" - Support Gusset ]
4 10006392 Plate - 3/8" Upper Bag Plate 1
5 |10006543|Plate - 7ga - End-Link Mounting Bracket| 1
6 12213 Bolt- 3/8"-24x 1 1/4" Gr.8 2
7 13046 Split Lock Washer - 3/8" - YZ 2
8 (13022 Washer - 3/8" - Flat SAE Washer 2
9 112443 BOLT - GR8- 5/8"-18 X §"'-YZ 2
10 12435 Bolt - 5/8-18 X 5" Gr.8 YZ 1
11 [13126 Lock Nut-5/8"-18 Gr.-8 YZ 3
12 13026 Washer - 5/8" Flat SAE Washer 6
13 [12007 Bolt - 1/2"-20 X 1 1/2" Gr.8 YZ 1
14 (13124 Lock Nut - 1/2"-20 Gr. 8 2
15 (13024 Washer - 1/2" Flat SAE Washer 4
16 [12021 Bolt - 1/2-20 X 3" Gr.8 YZ ]

10006399 CRR - Frame Crush Bushing 3

S A _8:9 SCALE DRAWING|

1:20 [ aporoximate we'gh - bs

ANCLE :
SROATELE, [marspecs:

CHANGE DESCRIPTION T

Wx% wqm%o 2020 GM 2500-3500 Pickup Stock Height Rear
X300 010 parT numeck: 10006704 MRk S doche i
FRAC.DM. $1/32'
DATE Beg 4.5 DESIGN BY: Zach Beltz DATE: 3/20/2020 ¥

UNLESS oescrpnon:Assembly - (PS) Upper Frame/Bag Mount
OTHERWISE SPEC,
VNS, IN INCH=
STD. TOLERANCES | PROJECT:

SHEET 1 OF 2

Figure 9

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



13

Kelderman

2/24/70

[TEM NO.| PART # DESCRIPTION QTY.
1 10006396|Weldment - (DS) Upper Frame/Bag Mount| 1
2 12443 BOLT - GR8 - 5/8"-18 X " - YZ 2
3 13126 Lock Nut - 5/8"-18 Gr. -8 YZ 2
4 13026 Washer - 5/8" Flat SAE Washer 4
5 12007 Bolt-1/2"-20X 1 1/2"Gr.8YZ 1
6 13024 Washer - 1/2" Flat SAE Washer 4
7 13124 Lock Nut - 1/2"-20 Gr. 8 2
8 12213 Bolt - 3/8"-24 x 1 1/4™ Gr.8 2
9 13046 Split Lock Washer - 3/8" - YZ 2
13022 Washer - 3/8" - Flat SAE Washer 2
12021 Bolt - 1/2"-20 X 3" Gr.8 YZ 1
10006399 CRR - Frame Crush Bushing 2
w,zmmm_l A [oonorscar sramnc] 1220 T approxmarc weight = Ibs
ooy MMMMM_MW“EEE ~(DS) Upper Frame/Bag Mount
muoon_wu@g 2500-3500 Pickup Stock Height Rear
 [Parr umser: 10006712 ,
CHANGE DESCRIFTION CHANCEL™ patE DESIGN BY: Zach Belfz DATE: 3/20/2020 SHEET 1 OF 2

Figure 10

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman

2/24/70

9: Drill 11/16” holes in the inside frame rail to correspond with the holes in the outside of

the frame. See figure 11.

Figure 11

6: Locate the lower bag mounts air bags, axle clamps and axle clamp hardware. DS lower
bag mount P/N 10006347, DS axle clamps P/N 10006365 and P/N 10006422. PS lower
bag mount P/N 10006369, and PS axle clamp 10006366. Locate the axle bolts in the bolt
kit, locate the two 9” axle bolts and place them in the bag mounts to the rear inside hole
on the PS bag mount, rear middle on the DS bag mount, to clear the sway bar when the
suspension is fully extended. These shorter bolts will also use top lock nuts P/N 13126,
instead of the high nuts P/N 13179. Mount the bag mounts using the factory leaf spring
pad to position the bag mounts. Insert a parallel arm into the lower mount and use the
mounting bolt and spacer to align the axle clamp and parallel arm mount on each side
before tightening anything. See figures 12,13, 14,15 and 16.

| [T PARALELL ARM AND BOLT
B BEFORE TIGHTENING
BAG MOUNT

Figure 12

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

14



Kelderman | 13

2/24/70

9" BOLTS P/N 12467 WITH
LOCKNUTS P/N 13126 GO HERE

Figure 13

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



[

Kelderman

2/24/70

9" BOLT AND LOCKNUT e
IN THIS LOCATION
FOR SWAYBAR CLEARANCE

I\

[

ITEM#| PART # DESCRIPTION QTY.

1 110006347 | Weldment - (DS) Lower Axle/Bag Mount 1

2 (12471 Bolt - 5/8"-18 x 9.5" Gr.8 YZ 5

3 13179 NUT - HEX Nut -5/8"-18-GR8-PLN 5

4 13026 Washer - 5/8" Flat SAE Washer 6

5 13130 Lock Nut - 7/8"-14 Gr. 8 YZ 2

6 12629 Bolt-7/8"-14 X 5" Gr.8 YZ 1

7 113030 Washer - 7/8" Flat SAE Washer 4

8 [10006656 |CRR-1"OD x.76"ID x .75" Long - PHB Spacer| 2

9 12533 Bolt - 3/4"-16 x 4 1/2" GR8 ]

10 13128 Lock Nut - 3/4"-16 Gr. 8 YZ 1

11 113028 Washer - 3/4" - Flat SAE Washer 2

12 112110 Bolt - 1/4"-20 x 1"- Gr.5 ]

13 13000 Flat Washer - 1/4" YZ 2

14 113100 LOCK NUT - 1/4"-20 - GR5-1 ]

10 ™95 {12637 Bolt - 7/8-14 X 6" Gr. 8 Y7 ]
16 (12467 Bolt - 5/8"-18 x 9" Gr.8 YZ |

17 (13126 Lock Nut-5/8"-18 Gr.-8YZ 1

(| 18 [10006365 Weldment - (DS) Lower Axle Clamp 1
19 10006422 Weldment - 4.25" Axle Clamp ]

A _uo NOT SCALE uE...z_zoi 1:20 _ Approximate Weight = Ibs

RAATLSPLCS:

oescrriion; Weldment - {DS) Lower Axle/Bag Mount

CES | pROJECT:

2020 GM 2500-3500 Pickup Stock Height & 2"

. |Parr nuwerz: 10006694

ECN

CHANGE DESCRIFTION

CHRNGE DAE

DSIGN BY: Andrew Swope DAIL: 3/20/2020

SHEET 1 OF 2

Figure 14

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



17

Kelderman

2/24/70

9" BOLT AND LOCKNUT
IN THIS LOCATION
FOR SWAYBAR CLEARANCE

ITEM NO.| PART # DESCRIPTION QTY.

1 10006369 Weldment - (PS) Lower Bag/Axle Mount 1
2 12471 Bolt - 5/8"-18 x 9.5" Gr.8 YZ 3
3 13026 Washer - 5/8" Flat SAE Washer 4
4 1.817% NUT - HEX Nut -5/8"-18-GR8-PLN 3
5 12110 Bolt - 1/4"-20 x 1"- Gr.5 1
1S 13000 Flat Washer - 1/4" YZ 2
7 13100 LOCK NUT - 1/4"-20 - GR5 - Z 1
8 12629 Bolt - 7/8-14 X 5" Gr.8 YZ 1
9 12641 Bolt-7/8"-14 X 6-1/2" Gr. 8 YZ 1
10 13130 Lock Nut-7/8-14Gr.8YZ 2
11 13030 Washer - 7/8" Flat SAE Washer 4

12467 Bolt - 5/8"-18 x 9" Gr.8 Y/ 1

13126 Lock Nut-5/8"- 18 Gr. -8 YZ 1

10006355| CRR-1.75"0OD x 1.125" Long - Spacer 1

10006371|Weldment - (PS) Lower 4.25" Axle Clamp| 1

Approximate We'ght = Ibs

@ -=- A _no NOT SCALE u?..s,_zi 1:20

30 ANGLE T
PROJECHON _ [MAT- SPECS:
UNLESS pzscrrmion:Weldment - (PS) Lower Bag/Axle Mount

OTHERWISE SPEC.

REV

=CN

CHANGF DFSCRIPTION

CHANGE

3 DATE

DIMNS, IN INCHES
STC. TOLERANCES | FROJECT:
XX +.060 2020 GM 2500-3500 Pickup Stock Height Rear

XXX £010 PaRT NUMBER: 10006697 m

Deg. +.5° oFS GN BY: Andrew swope DATE 3/19/2020

SHEET 1 OF 2

Figure 15

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



18

Kelderman
2/24/70

ITEM NO.|PART # DESCRIPTION QTY.
1 10005 TORQUE ARM END (RHT) 1
2 12420 Bolt - 5/8™-11 X3 1/4" GR8 2
3 13106 Lock Nut - 5/8"-18 2
4 80136 |Bushing-0OD 1.79" ID-11/8"Length-17/16" 4
5 20093 Bushing - OD -1 1/8"ID - .88" Length - 3" 2
6 13026 Washer - 5/8" Flat SAE Washer 4
7 52114.5 14.5" Trailing Arm Bar 1
8 10006 TORQUE ARM END (LHT) 1

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

-=]- A Jooroscacoreanc] 110 [ appros
MATL SPECS:
oiscrprion PARALLEL ARM ASSEMBLY 8.25

PROJECT:

2020+ GMC/CHEVY STOCK HEIGHT
eak” Numack: 10006949

ECN CHANGE DESCRIPTION N DaTE

2
o
&

DESIGN BY: Andirew Swope DATE: 3/20/2020 SHEET 1 OF 2

Figure 16



Kelderman | 13

2/24/70

1: Mount the air bags to the upper bag mounts with 3/8” x 1 %” — 16 bolts, lock washers
and flat washers. Be sure to align the air port with the notch in the bag mount. Install
the %" x %” 90° air fitting into the air port on the air bag. See figure 17.

THE AIR PORT
ALIGNS WITH THE
NOTCH IN THE

AG MOUNT

Figure 17

8: Mount the upper bag mount to the frame on the driver’s side. Use the 5/8” x 5”, P/N
12435, and the 5/8” x 6” bolts, P/N 12443, along with the Crush Bushings, P/N
10006399. Also install the %4”-20 x 1 4" bolt P/N 12007. Do not install the three forward
bolts yet, as they go through the front trailing arm mounts as well. Install the crush
bushings through the upper bag mount and the holes that you drilled into the frame.
See figures9 and 18.

9: Mount the upper bag mount to the frame on the passenger’s side. Use the 5/8” x 5”,
P/N 12435, and the 5/8” x 6” bolts, P/N 12443, along with the Crush Bushings, P/N
10006399. Also install the %5”-20 x 1 %2” bolt P/N 12007. The upper Panhard bar mount
must be installed at the same time. It goes against the frame, see figure 19 . Do not
install the three forward bolts yet, as they go through the front trailing arm mounts as
well. Install the crush bushings through the upper bag mount and the holes that you
drilled into the frame. See figures 10, 18, 19, and 20.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Figure 18

! UPPER PHB MOUNT GOES

.~ AGAINST THE FRAME
A g & |n-""‘?~_~ = G

‘55

L o

Figure 19

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

Kelderman

2/24/70

20



2!

Kelderman

2/24/70

ITEM NO.| PART # DESCRIPTION QTY.
1 10006469 Weldment - Panhard Bar Bracket 1
2 13128 Lock Nut - 3/4"-16 Gr. 8 YZ ]
3 13028 Washer - 3/4" - Flat SAE Washer 2
4 12533 Bolt - 3/4"™-16 x 4 1/2" GR8 ]
5 10006656|/CRR - 1" OD x .76" ID x .75" Long - PHB Spacer| 2

® - A Joororscacommne] 1110 approximale We'ghl = lbs
SEDANGLE  [matLseecs:
UNLESS nescreron:Assembly - Panhard bar mount

PROJECT:

2020+ GM stock height

PART NUMBCR: 10006786

REV

ECN

CIANGE DESCRIPTON

CHARSEl pare

[DESIGN BY: Andrew Swope DATE: 3/20/2020

SHEET 1 OF 2

Figure 20

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



10:

1:

12:

13:

Figure 21

Kelderman

2/24/70

Mount the air bags to the lower bag mounts. For stock height kits, mount the bag
directly to the bag mount. For +2” lift kits, mount the bag spacer to the bag and then
mount that assembly to the lower bag mount. The bag itself takes a %” coarse thread
jam nut, lock washer and flat washer. The bag spacer, for +2” kits, mounts with a %” fine
thread jam nut, lock washer and flat washer.

The fuel tank will need to be taken loose and slid toward the center of the truck to allow
access to the bolt holes to mount the trailing arm mounts.

Locate the front trailing arm mounts. DS Perch Mount P/N 10006415, PS Perch Mount
P/N 10006377. Place them against of the upper bag mount side plate. The front of the
mount goes into the front leaf spring mount and uses the factory leaf spring bolt. If
your truck came with overload springs, you will use the M12 x 1.75 — 130mm bolts on
the Driver’s Side and M12 x 1.75 — 140mm on the Passengers Side. If your truck did not
come with factory overload springs see the following step. See figures 21,22, and 23.

If your truck did not come with overload springs, you will use 7/16” hardware in those
holes. If using the 7/16” hardware, the larger washer goes on the outside of the kit, the
smaller washer goes into the frame. See figure 21.

/ £ SMALLER WASHERS HERE
27 FOR TRUCKS WITHOUT
QVERLOAD SPRINGS

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

22



23

Kelderman

2/24/70

ITEM NO.| PART # DESCRIPTION QTY.
10006377 Weldment - (DS) Perch Mount 1
12633 Bolt - 7/8-14x51/2"Gr. 8 YZ 2
13130 Lock Nut-7/8"-14 Gr. 8 YZ 2
13030 Washer - 7/8" Flat SAE Washer 4
14071 Bolt - M12-1.75 x 130mm - 10.9 YZ FULLY THREADED| 3
13888 Washer - M12 Flat Washer 6
14081 Lock Nut - M12-1.75 CLASS 10.9 3

A [eororscazowmnc] 110 [ approvimate weight = Ibs

MATL SPECS:

X “Assembly - (DS) Perch Mount

PROUECT:
No_no GM 2500-3500 Pickup Stock Height Rear

, | ParTneze: 10006691

REY

CHANGF BFSCRPTION

THANGE
BY

NATF NFSIGN BY: Andrew Swope DATE: 3/20/2020

*| SHEET 1 OF 2

Figure 22

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



24

Kelderman
2/24/70

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

ITEM NO.| PART # DESCRIPTION QTY.
1 10006415 Weldment - (PS) Perch Mount 1
2 12633 Bolt-7/8-14x51/2"Gr.8YZ 2
8 13130 Lock Nut - 7/8"-14 Gr. 8 YZ 2
4 13030 Washer - 7/8" Flat SAE Washer 4
5 14071 Bolt - M12-1.75 x 130mm - 10.9 YZ FULLY THREADED| 3
6 13888 Washer - M12 Flat Washer 6
° 7 [14081 Lock Nut - M12-1.75 CLASS 10.9 3
%_, >z.mﬂ- A [pororscaenramnc] 1110 Aoprodimate weignt = Ibs
_,,zw\_pwn,wo,_ Hc ‘._Nmmmauz.:é Perch Mount
2030 GM 2500-3500 Pickup Stock Height Rear
2Rl nuweez: 10006713 *
REV | ECN CHANGE DESCRIPTION CHCE [ DaTE DESIGN BY: Zach Belfz Calt: 3/20/202 SHEET 1 OF 2

Figure 23



Kelderman | 25
2/24/70

14: Locate the other 2 trailing arms P/N 10006949. Preset the trailing arm length to 8 %”
between the cast knuckles. The front bars attach to the forward trailing arm plate with
the 7/8” x 5 %" bolts, the top rear attach with 7/8” x 5” bolts, and the bottom rear
attach with 7/8” x 6 %" bolts. DO NOT TORQUE THESE BOLTS UNTIL THE INSTALL IS
COMPLETE.

See figures 22,23,24, and 25. NOTE: FOR 2 INCH LIFT KITS, PRESET TRAILING ARM

LENGTH TO 8 %"

Figure 24

Set this length to 8 ’:” for 2 inch lift kits

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



26

Kelderman

2/24/70

ITEM NO.|PART # DESCRIPTION QTY.
1 10005 TORQUE ARM END (RHT) 1
2 12420 Bolt - 5/8"-11 X 3 1/4" GR8 2
3 13106 Lock Nut - 5/8"-18 2
4 180136 [Bushing-OD 1.79" ID-11/8"Length-17/16" 4
5 20093 Bushing-OD -1 1/8"ID - .88" Length - 3" 2
6 13026 Washer - 5/8" Flat SAE Washer 4
7 52114.5 14.5" Trailing Arm Bar 1
8 10006 TORQUE ARM END (LHT) 1
A Joororscaiomannc] 110 aporoximare weght = Ibs
H.Mu..ymﬂmm_“w_ws;b_.rm_. ARM ASSEMBLY 8.25
mﬂmmﬁ”mgn\n:m<< STOCK HEIGHT
X #010 - [parTuvser: 10006949
RFV | FON CHANGF JFSCRIPTION CHRCE] nate %‘)Wm.m‘_.w i [F5iGN BY: Andrew Swope DATE: 3/20/2020 | SHEET 1 OF 2

Figure 25

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman

2/24/70

19: Locate the accumulator tanks P/N 10006420 (DS) and P/N 10006421 (PS). These tanks
fasten into the factory rear leaf spring shackle mounts with the factory bolts. Make sure
that the large port for the %” air fitting is pointing forward. Torque the factory leaf
spring bolt to 135 ft./lbs. once the tank is secured within the mount, run the %” air line
from the large fitting in the air tank to the fitting in the air bag. Torque the nut on the
bottom of the bag to 35 ft./Ibs. See figure 26.

g 7-.
INSTALL ACCUMULATOR {‘
WITH LARGER PORT

FORWARD

Figure 26

16: Locate the track bar/ Panhard bar P/N 10006568. Locate the 4 Panhard Bar (PHB)
spacers P/N 10006656. It fastens to the upper and lower Panhard bar mounts with %” x
4 %" bolts. Use the spacers to center the Heim ends in the mounts. Torque bolts to 200

ft./Ibs. See figure 27.

e —
I‘é’-g

Figure 27

11: Locate the sway bar P/N 80259, mounting clamps P/N 80271, sway bar bushings P/N
80256, and sway bar end links (P/N 19238 for stock height, P/N 10006911 for +2”). The
sway bar fastens to the axle in the factory location, if equipped, on the shock mounts. If
your truck did not come with a factory sway bar, you will need to tap the factory weld
nuts to 3/8”- 24 to mount the mounting clamps to the axle. If your truck came with a
factory sway bar, use the factory bolts to mount the new clamps. The upper end of the
end links mount to the pockets in the upper bag mounts with %” x 3” bolts. The lower

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman

2/24/70

end of the end links attach to the frame with %" x 3” bolts as well, be sure to use the
large machined washer on the bolt head, P/N 11551 . Use the supplied grease between

the sway bar and the sway bar bushings to prevent squeaking. See figure 28 and 29.
. s L &3 [l_u___}{ 0 =
, 5 Y 2

Figure 28

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

28



29

Kelderman

2/24/70

ITEM NO.|PART # DESCRIPTION QTY.
1 80259 |Purchased - Sway Bar - 1-1/4" Dia| 1
2 11551 |Plate - 1/4"-1.5"OD x.53"ID x 1/4"| 2
3 12021 Bolt - 1/2"-20 X 3" Gr.8 YZ 4
4 13024 Washer - 1/2" Flat SAE Washer 8
5 13124 Lock Nut - 1/2"-20 Gr. 8 4
6 80256 | Sway Bar Bushing-1-1/4"1D | 2
7 (80271 Sway Bar D-Ring Bracket 2
8 19238 Assembly - 20.50" End Link 2
? 12213 Bolt - 3/8"-24x 1 1/4™ Gr.8 4
10 13022 Washer - 3/8" - Flat SAE Washer | 4
11 13046 Split Lock Washer - 3/8" - YZ 4
oo rorscatepramna] 120 [ approximare Weight = Ibs
mﬂwono GM stock height Carolina Sway Bar
G PazT HUMzER: 10006931
ROV | Con CHANGE DISCRIPION CRNCE] pate Peg-£.5°  I5i3IGN BY: Andrew Swope DATE: 3/19/2020 SHEET 1 OF 2

Figure 29

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman

2/24/70

18 : Once the kit is installed, inflate the airbags to 7 %” this is where the airbag rides the
best. Measure off of the front axle ball joints to make sure that the axle is square with

the front. See figure 30.

Figure 30

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

30



19:

Figure 31

Kelderman

2/24/70

Mount the height control sensors to the Perch Mount using the hardware provided with
the sensors. The mechanical valve must be vertical when installed and the arm must be
horizontal at ride height. The height control valves are the same for each side of the
truck. The height control valve has a built in 8 second delay. See figure 31.

NOTE: before installing the mechanical valve, rotate the arm clockwise and
counterclockwise 4-5 times each way. This will prepare the internals for operation
after sitting in inventory.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

3l



20:

Figure 32

Kelderman

2/24/70

The recommended mounting location for the compressor box and air tank is where the
spare tire originally went. Use the supplied mounting brackets and weld them to the
cross member. Refer to figures 12-14 for plumbing and wiring of the air system. On this
system you will run the air line from the height control valve to the accumulator tank.

You will connect the air bag to the accumulator tank with the %” tubing and connectors.

See figures 32 and 33.
Make sure to use a battery protection device on the batteries or unhook the batteries

before welding!

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500

32



Kelderman | 33
2/24/70

Figure 33

21: After install is complete, and the rear axle is square, torque all fasteners to the
specifications in the chart below.

Bolt Size Torque
1/4"-20 70 in-Ib
3/8”-16 20 ft-Ib
1/2"-20 50 ft-Ib

9/16"-18 100 ft-Ib
5/8”-18 250 ft-Ib
7/8”-14 300 ft-Ib

22 : After the bolts are torqued and the air bags are inflated to ride height, you can now
replace the bed.

23 :Set the pinion angle to the measurement that you took in Suspension Removal step 1.

24 :Now the truck is ready for a test drive. Pay close attention to how the truck handles and
if there are any vibrations.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 34
2/24/70

29: When you test drive the truck, if the truck pulls to one side, shorten the opposite side
trailing arms one turn and test drive again. Repeat until pull is no longer noticeable.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 38
2/24/70

Owner Responsibilities

The Kelderman suspension needs no lubrication and little maintenance. However, immediate cor-
rective action should be taken if a serious malfunction occurs.

CAUTION! If maintenance or service is fo be done on the air system, be sure to drain all air from
the system. Serious injury could occur if components are removed while system is full of air.

PRODUCT OWNER RESPONSIBILITIES

+ Owner is solely responsible for pre-operation inspection, periodic inspections, maintenance, and
use of the product as specified in the particular Kelderman MFG. instructions available by prod-
uct model, except as provided in this warranty, and for maintenance of other vehicle compo-
nents. Of particular importance is the re-torque of fasteners including axle bolts, four link bolts,
and pan hard bar bolts. This re-torque must be performed within 80 days of the suspension be-
ing put into service.

s Owner is responsible for “down time" expenses, cargo damage, and all business costs and loss-
es resulting from a warrantable failure.

s The Kelderman Air Suspension is fully automatic in controlling the height of the chassis when
properly installed. Mo manual intervention to control air pressure or ride height is needed during
the course of operation.

+ The Compressor Switch must be on for the compressor to operate. During difficult starting cir-
cumstances, (i.e. extremely cold weather) it is recommended to turn the compressor switch off
until the vehicle is running, so it will not draw current from the battery. The compressor is con-
trolled by the pressure switch located in the Air Control Box. This switch automatically turns the
compressor on when the tank pressure falls below 110 psi, and turns them off at 145 psi.

+ The Low Pressure Warning Light indicates a severe drop in tank pressure (below 45 psi). Im-
mediate corrective action should be taken to determine the cause of air loss. Compressor
switch should be turned off if Low Pressure Wamning Light is on, and remains on even after the
compressor has run for a normal period of time. NOTE: The Low Pressure Waming Light could
come on briefly when the "Dump” feature is being used.

+ When the weather is below freezing, it is important to release any moisture contained within the
air tank on a daily basis. This is done by pulling on the attached release cable for approximately
5 seconds or turning the petcock Mot releasing the moisture on a regular basis will cause the
drain valve to not operate properly.

CHECK AT EVERY VEHICLE SERVICE INTERVAL:
Check Ride Height £1/4"
Check for air leaks around fittings.

CHECK AFTER THE FIRST 1000 MILES:
Recheck & tighten any loose fasteners.
Check for any loose or worn components.

CHECK AFTER EVERY 30.000 MILES:
Check trailing arm bushings and pan hard bar bushings for wear; replace if womn.

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 36
2/24/70

Notes

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500



Kelderman | 37
2/24/70

Contact Information

- Kelderman Manufacturing appreciates your business. We strive to meet
the needs of our customers by providing the highest quality products. If
you have any questions concerning our products please call or email us

at the following:

2686 Highway 92
Oskaloosa, lowa 52577

Phone: 1-800-334-6150
Fax: (641) 673-4168
Email: info@kelderman.com

Y /5 Y o 4

IluLuu/' (¥ 2/ 5 4

Stock Height and 2" Lift Air Ride - 020+ Chevy / GMC 2500/3500




